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QUESTION 1

A simple gaming system has been specified as a set of use cases. It has been tested by the supplier and is now ready
for user acceptance testing. The system is assessed as low risk and there is pressure to release the software into the
market as soon as possible. Which of the following test techniques would be most appropriate for this testing?

A. State transition testing and decision testing

B. Equivalence partitioning and statement testing

C. Use case testing and exploratory testing

D. Decision table testing and exploratory testing

Correct Answer: C

QUESTION 2

Which of the following are true of software development models?

a) Component Integration testing is present in all good development models. b) Acceptance testing can take place
before system testing starts. ¢) Acceptance testing should only start when system testing is complete. d) There may be
fewer than four test levels in a V-model.

A.bandd

B.aandb

C.bandc

D.candd

Correct Answer: A

QUESTION 3

Which of the following is a specification-based technique?
A. Use Case Testing

B. Error Guessing.

C. Condition coverage

D. Statement Testing.

Correct Answer: A
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QUESTION 4

Given the following decision table:

Rule 1 Rule 2 Rule 3 Rule 4
Conditions
Age =27 yrs 21 -29 yrs 30 —&0yrs =51 yrs
Insurance Class Ay Aoor B B, CaorD CorD
Actions
Fremium £100 £90 £70 7o
Excess £2 500 £2 500 £500 £°000

Which of the following test cases and expected results is VALID?

A. 23 year old in insurance class A Premium is ?0 and excess is ?,500.
B. 51 year old in insurance class C Premium is ?0 and excess is ?00.
C. 31 year old in insurance class B Premium is ?0 and excess is ?,500.
D. 43 year old in insurance class C Premium is ?0 and excess is 7,000

Correct Answer: A

QUESTION 5

Which one of the following methods for test estimation rely on information captured from previous projects?
A. Test point-based

B. Expert-based

C. Metrics-based

D. Development effort-based

Correct Answer: C
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